Answer on Question #58367 — Math — Trigonometry

Question 1

Choose the function whose graph is given by:

y=C0sx =2

= =s5inx—2

y=sinx -2

= —-COoSX—2

Answer: y=Sinx-2.



Question 2

Choose the function whose graph is given by:
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y=cos(x+1)

y=sinx+2

y=cosx+1
y=cosx +2
Answer: y=C0S x+1.
Question 3

Choose the function whose graph is given by:

y=cosx—1

y=cos(x +1)

y=cos(x—1)

y=sin(x—-1)

Answer: y=cos(x-1).



Question 4

The graph of ¥ =4sin(x +3) -2 s obtained by shifting the graph of

y=4sinx =2 horizontally 3 units to the left.

True
False
Answer: True.

Question 5

Choose the function whose graph is given by:
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y =cos(2x)
=cos(ix)
Y 4

v =cos(4x)
=cos(ix)
4 2

Answer: y=c0s(4Xx).
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